	Malyana picked 67 apples and put them in the basket.  Izzy picked some more apples and put them in the basket.  Now there are 182 apples in the basket.  How many apples did Izzy pick?


	For the school bake sale Kailyn made 64 cupcakes.  She sold 15 of them and made 28 more.  How many cupcakes does Kailyn have now?
	Ezekiel has 5 quarters, 2 dimes, 6 nickels, and 4 pennies.  He bought a piece of gum for 27 cents and a sucker for 56 cents.  How much money does he have left?

	A waiter had 41 customers to wait on.  If 17 customers left and he got another 22 customers, how many customers would he have?
	Which group of numbers show counting back by 100?

A) 432,  422,  412,  402
B) 378, 478, 578, 678, 778
C) 610, 510, 710, 410, 810,
D) 513, 413, 313, 213, 113
	Which equation could help you solve the following equation?
         16 – 4 = ?
A)  4 + 16
B)  18 + 4
C)  12 + 4
D)  12 – 4


	How can you use place value (partial sums) to find the correct sum?
            325 + 176

A)  300 + 25 + 100
B)  300 + 200, 50 + 10, 5 + 6
C)  300 + 100, 20 + 70, 5 + 6
D)  32 + 17, 5 + 6
	Charleigh had some M&Ms.  She grabbed 29 from Sara.  Now she has 62 M&MS altogether.  How many M&Ms did she have to begin with?
	Which equation has an even sum?

A)  5 + 4 = x
B)  12 – 6 = x
C)  10 + 4 = x
D)  8 + 3 = x





Solve.

5 + 8 = ______                                             9 + 6 = ______

4 + 7 = _______                                           2 + 7 = _______
